1. L =]3,00]

2. L =] —o00,6]

3. L =] — o0, -]

4 L=Q

5. L =]15,29]

6. L =]—4,0]

L=~ oo

8. L =] —00,2[U]3,00]

9. Losungshilfe: 22 —25>0 <= (z+5)(zx —5) >0
L =] — 00, —5] U [5, 00|

10. Losungshilfe: 22 + 72 +12 <0 < (x+3)(z+4) <0
L =[-3,—4]

11. L =] — 00, ~2] U [1,10]

12. L =]0,1]

13. Losungshilfe: 2 <1 «= = 1.0 e 21 o
L= - L1

14. L=[-1,1[U]2, 00|

15. Losungshilfe: ﬁ—ﬂ > i—ﬁ = i—ﬂ — i—ﬁ >0 <= (=)
L =] —4,-3[U]1,00]

TR

17. L =] — o0, 5[ U], o0

18. L =] — 2.2,2.2|

19.

Ungleichungen
Losungen der Ubungsaufgaben

3
m+2



